The development and implementation of IFRS

The International Accounting Standards Committee (IASC) was renamed as __________________ in April 2001.
The IASB has continued to develop standards calling the new standards __________________. 
All the standards issued after 2001 are _________
__________________ is an independent, not-for-profit private sector organization working in the public interest 

__________________  is the independent standard-setting body of the IFRS Foundation.
__________________was founded on April 1, 2001 as the successor to the International Accounting Standards Committee (IASC).
All standards issued before 2001 were _________, all standards issued after 2001 are _________
_________ is recording a business transaction in an entity’s accounting records, including asset, liability, equity component, revenue or expense.

_________ is the removal of a previously recognized asset, liability or equity (sometimes revenue and expense) from an entity’s financial statements.
_________ means the financial amount attributed to asset, liability, equity, revenue or expense.

__________________ is an amount in which asset, liability or equity shall be recorded in the financial statements at its initial recognition —or when it is recorded for the first time.

__________________ is an amount in which asset, liability or equity shall be recorded in the financial statements afert its initial recognition—or in the 2nd, 3rd, 4th year of its recognizing in the financial statements.

A _________ is additional information attached to an entity’s financial statements, usually as detailed breakdown of the numbers included in the financial statements, description of various significant events, estimates, judgements and other items that influenced the company’s results, etc
When cash is received, _________ Cash.

When cash is paid out, _________Cash.

To increase an asset, _________ the asset account.

To increase a liability, _________ the liability account.

To increase owner's equity, _________ an owner's equity account.

To increase revenues, _________ the revenues account

To increase expenses, _________ the expense account

Asset accounts normally have _________ balances
Debit or Credit
	Account Title
	To Increase

	Cash
	

	Advertising Expense
	

	Accounts Receivable
	

	Buildings
	

	Accumulated Depreciation - Buildings
	


Debit or Credit
	Account Title
	To Increase

	Accounts Payable
	

	Land
	

	Wages Payable
	

	Equipment
	

	Accumulated Depreciation - Equipment
	


Liability accounts are decreased with a ________. 
Credits are entered on the _________ side of a T-account. 
Debits are entered on the ______ side of a T-account. 
Asset account balances are reduced by a _________ entry. 
Revenues cause an increase in owner's _________. 
_______________ Depreciation is a balance sheet account with a credit balance. 
The Framework and the first application of IFRS
IFRS Framework consists of 4 chapters:
Chapter 1: __________________
Chapter 2: __________________
Chapter 3: __________________
Chapter 4: __________________
IFRS Framework describes 2 types of characteristics for financial information to be useful:

- _________ Qualitative Characteristics are relevance and faithful representation. 
- _________ Qualitative Characteristics are comparability, verifiability, timeliness and understandability.
_________ means that an entity will continue to operate for the foreseeable future (usually 12 months after the reporting date)
The elements directly related to the measurement of financial position are ___________________________
_________ is a resource controlled by the entity as a result of past events and from which future economic benefits are expected to flow to the entity.
_________ is a present obligation of the entity arising from past events, the settlement of which is expected to result in an outflow from the entity of resources embodying economic benefits.
_________ is the residual interest in the assets of the entity after deducting all its liabilities.
The elements directly related to the measurement of profit are __________________.
_________ is increases in economic benefits during the accounting period in the form of inflows or enhancements of assets or decreases of liabilities that result in increases in equity, other than those relating to contributions from equity participants
_________ are decreases in economic benefits during the accounting period in the form of outflows or depletions of assets or incurrences of liabilities that result in decreases in equity, other than those relating to distributions to equity participants
_________ is the process of incorporating in the balance sheet or income statement an item that meets the definition of an element and satisfies the criteria for recognition
An asset is _________ in the balance sheet when it is probable that the future economic benefits will flow to the entity and the asset has a cost or value that can be measured reliably.
A liability is_________ in the balance sheet when it is probable that an outflow of resources embodying economic benefits will result from the settlement of a present obligation and the amount at which the settlement will take place can be measured reliably.
Income is _________ in the income statement when an increase in future economic benefits related to an increase in an asset or a decrease of a liability has arisen that can be measured reliably.
Expenses are _________ in the income statement when a decrease in future economic benefits related to a decrease in an asset or an increase of a liability has arisen that can be measured reliably.
_________ is the process of determining the monetary amounts at which the elements of the financial statements are to be recognised and carried in the balance sheet and income statement. This involves the selection of the particular basis of measurement.

The IFRS Framework discusses 2 concepts of capital and capital maintenance: __________________.

_________ of the financial statements is to provide information about the financial position, financial performance and cash flows of an entity that is useful to a wide range of users in making economic decisions.
The complete set of financial statements compliant with IFRS comprises 5 elements:

· __________________
· __________________
· __________________
· __________________
· __________________
Debit or Credit
	Account Title
	To Increase

	Financial Liabilities
	

	Biological assets
	

	Cash and cash equivalents
	

	Intangible assets
	

	Current tax liabilities
	


__________________ are the specific principles, bases, conventions, rules and practices applied by an entity in preparing and presenting financial statements.
Because every business transaction affects at least two accounts, our accounting system is known as a _________ system.
A __________________ is a listing of the names of the accounts that a company has identified and made available for recording transactions in its general ledger.
Non-operating Expenses and Losses, Assets, Operating Revenues, Liabilities, Non-operating Revenues and Gains, Owner's (Stockholders') Equity Operating Expenses
	Balance sheet accounts
	

	Income statement accounts
	


When a company borrows $1,000 from a bank, the transaction will affect the company's _________ account and the company's _________ account. 
Debit or credit balance 
	Account Classification
	Normal Balance

	Assets
	

	Liability
	

	Stockholders' Equity
	

	Revenues (or Income)
	

	Expenses
	

	Gains
	

	Losses
	


_________ accounts represent the different types of economic resources owned or controlled by business
_________ accounts represent the different types of economic obligations by a business, such as accounts payable, bank loan, bonds payable
_________ accounts accounts represent the company's gross earnings

_________ accounts represent the company's expenditures to enable itself to operate
The cost principle is often described as the __________ cost principle. 
Probable future economic benefits is part of the definition of __________. 
Property, plant and equipment
__________________ are tangible items that:

(a) are held for use in the production or supply of goods or services, for rental to others, or for administrative purposes; and 
(b) are expected to be used during more than one period.
A _________ of property, plant and equipment is a grouping of assets of a similar nature and use in an entity’s operations.
The examples of separate classes of PPe: 

(a) _________; 

(b) _________; 

(c) _________; 

(d) _________; 

(e) _________; 

(f) _________; 

(g) _________
(h) _________.
The cost of an item of property, plant and equipment shall be _________ as an asset if, and only if:

- it is probable that future economic benefits associated with the item will flow to the entity; and

- the cost of the item can be _________ reliably.
_________ is the amount of cash or cash equivalents paid or the fair value of the other consideration given to acquire an asset at the time of its acquisition or construction or, where applicable, the amount attributed to that asset when initially recognised in accordance with the specific requirements of other IFRSs
An item of property, plant and equipment that qualifies for recognition as an asset shall be measured at its _________.
The cost of an item of property, plant and equipment is the __________________at the recognition date.
If an asset is acquired in exchange for another non-monetary asset, the cost will be measured at the _________
_________ Measurement of PPE:
_________ = Purchase price + Directly attributable costs + Removal costs
_________  is the amount for which an asset could be exchanged between knowledgeable, willing parties in an arm’s length transaction
_________  Measurement of PPE:
_________ model: an entity shall carry an asset at its cost - accumulated depreciation - accumulated impairment losses
_________  Measurement of PPE:
_________ model: an entity shall carry an asset at a revalued amount - its fair value - subsequent accumulated depreciation - subsequent accumulated impairment losses
An __________________ is the amount by which the carrying amount of an asset exceeds its recoverable amount.
__________________  is the higher of an asset’s fair value less costs to sell and its value in use.
__________________ is defined as the systematic allocation of the depreciable amount of an asset over its useful life.
__________________ is the cost of an asset, or other amount substituted for cost, less its residual value
__________________ is the period over which an asset is expected to be available for use by an entity; or the number of production or similar units expected to be obtained from the asset by an entity.
Depreciation methods include 
the __________________ method, 
the __________________ method 
 the __________________ method.
__________________ = Cost - residual value
__________________ is the cost of an asset, or other amount substituted for cost, less its residual value.
__________________is: 
(a) the period over which an asset is expected to be available for use by an entity; or 
(b) the number of production or similar units expected to be obtained from the asset by an entity.
__________________ is the systematic allocation of the depreciable amount of an asset over its useful life.
__________________ is the amount at which an asset is recognised after deducting any accumulated depreciation and accumulated impairment losses.
The __________________ of an asset is the estimated amount that an entity would currently obtain from disposal of the asset, after deducting the estimated costs of disposal, if the asset were already of the age and in the condition expected at the end of its useful life
__________________ usually refers to spreading an intangible asset's cost over that asset's useful life.
__________________ refers to prorating a tangible asset's cost over that asset's life.
The carrying amount of an item of property, plant and equipment shall be __________________: 
(a) on disposal; or 
(b) when no future economic benefits are expected from its use or disposal. 
The gain or loss arising from the derecognition of an item of property, plant and equipment shall be included in __________________ when the item is derecognised
__________________ is property (land or a building—or part of a building—or both) held (by the owner or by the lessee under a finance lease) to earn rentals or for capital appreciation or both, rather than for: 
(a) use in the production or supply of goods or services or for administrative purposes; or 
(b) sale in the ordinary course of business.
An investment property shall be measured initially at its __________________.
On 1 March 2013 Yucca acquired a machine from Plant under the following terms:

List price of machine $82,000

Import duty $1,500

Delivery fees $2,050

Electrical installation costs $9,500

Pre-production testing $4,900

In addition to the above information Yucca was granted a trade discount of 10% on the initial list price of the asset.
The initial purchase price of the asset should be:

____________________________________
____________________________________
____________________________________
____________________________________
____________________________________
An item of plant was purchased on 1 April 2012 for $200,000 and is being depreciated at 25% on a reducing balance basis.

Prepare the extracts of the financial statements for the year ended 31 March 2013. 
Income statement extract:
Depreciation expense $50,000
Statement of financial position extract:
Cost __________________
Depreciation – __________________
Carrying value __________________
A machine was purchased on 1 April 2012 for $120,000. It was estimated that the asset had a residual value of $20,000 and a useful economic life of 10 years at this date.
How should the asset be accounted for in the years ending 31 March 2013 ?
31 March 2013
At the date of acquisition the cost of the asset of $_____________ would be capitalised. The asset should then be depreciated for the year to 31 March 2013 as:

Cost – residual value = __________________
Useful economic life __________________
Income statement extract 2013:
Depreciation $__________________
Statement of financial position extract 2013:
Machine __________________
A company purchased a property with an overall cost of $100,000 on 1 April 2012. The property elements are made up as follows:

Land and buildings (Land element $20,000) $ 65,000 - 50 years

Fixtures and fittings $24,000 - 10 years

Lifts $11,000 - 20 years 
Total $100,000

Calculate the annual depreciation charge for the property for the year ended 31 March 2013
Land and buildings __________________
Fixtures and fittings __________________
Lifts __________________
Total property depreciation __________________
Intangible assets
An __________________ is an identifiable non-monetary asset without physical substance
__________________ are assets that lack physical existence and are not financial instruments
Intangible assets are usually classified as __________________assets because they produce benefits over several years.
Examples of possible __________________include:

· computer software

· patents

· copyrights

· motion picture films

· customer lists

· mortgage servicing rights

· licenses

· import quotas

· franchises

· customer and supplier relationships

· marketing rights

Intangibles can be acquired:

· __________________
· __________________
· __________________
· __________________
· __________________
__________________ is original and planned investigation undertaken with the prospect of gaining new scientific or technical knowledge and understanding. 
__________________ is the application of research findings or other knowledge to a plan or design for the production of new or substantially improved materials, devices, products, processes, systems or services before the commencement of commercial production or use.
Intangible assets should be measured initially at __________________.
The cost of an intangible asset that is acquired as part of a business combination is represented by the asset's _______________ at the acquisition date.
An intangible asset acquired in exchange for a non-monetary asset or for a combination of monetary and non-monetary assets should be measured at __________________
__________________ for an intangible asset is the period over which the asset is expected to be available for use by an entity or the number of production or similar units expected to be obtained from the asset by an entity.
Classification of intangible assets based on useful life

- __________________: no foreseeable limit to the period over which the asset is expected to generate net cash inflows for the entity.

- __________________: a limited period of benefit to the entity.

Where an intangible asset has a __________________ useful life its depreciable amount should be amortised on a systematic basis over that life
The __________________ value of an intangible asset with a finite useful life should be assumed to be zero
The residual value of an intangible asset with a finite useful life should be assumed to be __________________
Where an intangible asset is disposed of or where no future economic benefits are expected from its use or disposal it should be __________________
Aston Ltd acquires new energy efficient technology that will significantly reduce its energy costs for manufacturing. Costs incurred include: 

Cost of new solar technology 1,500,000 

Trade discount provided 200,000 

Initial testing of new technology 20,000 

Losses incurred while other parts of plant shut down during testing and training. 30,000 

The cost that can be recognised and capitalised is: 

__________________
__________________ 

__________________
__________________
Inventories
__________________ are assets: 
(a) held for sale in the ordinary course of business; 
(b) in the process of production for such sale; or 
(c) in the form of materials or supplies to be consumed in the production process or in the rendering of services.
Inventories shall be measured at the lower of _________________________
The cost of inventories shall comprise 
__________________
__________________
__________________
The costs of purchase of inventories comprise 
__________________
__________________
__________________
__________________ is the estimated selling price in the ordinary course of business less the estimated costs of completion and the estimated costs necessary to make the sale.
The __________________ method assumes that goods are used in the order in which they are purchased.
____________________________________ are the two systems of keeping records of inventory.
__________________ inventory system updates inventory accounts after each purchase or sale.
__________________ inventory system records inventory purchase or sale in "Purchases" account.
When inventories are sold, the carrying amount of those inventories shall be recognised as an __________________ in the period in which the related revenue is recognised.
IAS 2 allows two different methods to be used for valuing inventory: 

1. __________________ 

2. __________________
A manufacturer may hold three categories of inventory: 

1. _________________
2. ________________
3. ________________
The cost of the inventory is reported on the balance sheet as a ________________.
A manufacturer reports three inventory amounts: 
1. _________________
2. ________________
3. ________________
The cost of the finished goods that were sold in the current period is reported on the ______________ as the cost of goods sold.
The ABC Company bought 30 boxes of paper at $8 per box. Following a flood in their stockroom 6 of the boxes were damaged. They were offered for sale at $5 per box. All were unsold at the end of the company’s financial year. 

At what price will they be valued in the annual accounts? 

_________________________________
________________________________
________________________________
The Good Look Clothing Company carries a variety of stocks. At their year end they produce the following data in respect of it:

	Item 
	Cost Price $ 
	Net Realisable Value $ 
	Selling Price (when new) $ 

	New dresses 
	5,000 
	9,000 
	9,500 

	Children’s clothes 
	4,000 
	7,000 
	7,000 

	Bargain Fashions* 
	3,000 
	2,500 
	3,500 


What will be the total stock value for the accounts? 

New dresses $___________
Children’s clothes $___________
Bargain fashions $___________
Total Stock Value $___________
The inventory cost flow assumption where the cost of the most recent purchases are likely to remain in inventory _____________
The inventory system that does not update the Inventory account automatically at the time of each purchase or sales is the _______________ method/system. 
Inventory is reported as a _________ asset.  
Inventory is often reported at the _______ of cost or market. 
Under _____________ inventory system the balance in the Inventory account changes with each sale. 
Under _____________ inventory system the balance in the Inventory account does not change with each sale 
A ___________ will report raw materials, work-in-process, and finished goods inventory. 
The normal selling price minus the estimated cost to complete and sell is the net ___________ value. 
biological assetS
_____________ is the management by an entity of the biological transformation and harvest of biological assets for sale or for conversion into agricultural produce or into additional biological assets.
Examples of _____________ include:

• Raising livestock, fish or poultry

• Stud farms (for example, breeding horses or cattle)

• Forestry 
• Cultivating vineyards, orchards or plantations 
• Floriculture 
A _____________ is a living animal or plant. 
_____________ include the following.

• Sheep, pigs, beef cattle, poultry and fish.

• Dairy cows.

• Trees in a forest.

• Plants for harvest (for example, wheat and vegetables).

• Trees, plants and bushes from which agricultural produce is harvested (for example, fruit trees, vines and tea bushes).
A __________________________ is an aggregation of similar living animals or plants. 
_____________ comprises the processes of growth, degeneration, production, and procreation that cause qualitative or quantitative changes in a biological asset. 
_____________ is a natural change in a biological asset.
_____________ is the harvested product of the entity’s biological assets. 
_____________ is the detachment of produce from a biological asset or the cessation of a biological asset’s life processes.
Sheep, Milk, Wool, Sausages, Picked fruit, Wine, Bushes,Clothing, Grapes, Tea, Dairy cattle, Pigs, Cotton, Processed fruit, Yarn, Plants, Carcass, Cheese, Leaf, Fruit trees, Vines
	Biological assets 
	Agricultural produce 
	Products that are the result of processing after harvest 

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	


A biological asset shall be measured on initial recognition and at the end of each reporting period at its __________________________
IAS 41 requires biological assets to be measured on initial recognition and at each balance sheet date at __________________________
_____________ is the amount at which an asset is recognised in the statement of financial position. 
_____________ is the amount for which an asset could be exchanged, or a liability settled, between knowledgeable, willing parties in an arm’s length transaction.
The _____________of cattle at a farm is the price for the cattle in the relevant market less the transport and other costs of getting the cattle to that market.
_____________ are the incremental costs directly attributable to the disposal of an asset, excluding finance costs and income taxes
A gain or loss arising on initial recognition of a biological asset at fair value less costs to sell and from a change in fair value less costs to sell of a biological asset shall be included in _____________for the period in which it arises.
Vines, Land used for agricultural activity, Sheep, Grapes, Pigs, guard dogs, Dairy cattle, a trailer that is used in a farming operation, trees, fish farming, Milk, Wool, Carcass, tea leaves, a tractor that is used for agricultural activity
	within the scope of IAS 41
	within the scope of IAS 2
	within the scope of IAS 16

	
	
	


Cash and cash equivalents
_____________ comprises cash on hand and demand deposits.
_____________ are short-term, highly liquid investments that are readily convertible to known amounts of cash and which are subject to an insignificant risk of changes in value.
_____________ are inflows and outflows of cash and cash equivalents.
_____________ are the principal revenue-producing activities of the entity and other activities that are not investing or financing activities.
_____________ are the acquisition and disposal of long-term assets and other investments not included in cash equivalents.
_____________ are activities that result in changes in the size and composition of the contributed equity and borrowings of the entity.
The term __________________________ includes: currency, coins, checks received but not yet deposited, checking accounts, petty cash, savings accounts, money market accounts, and short-term, highly liquid investments with a maturity of three months or less at the time of purchase. 
Business activities can be divided into three groups:

_____________
_____________
_____________
_____________ activities are day-to-day business activities of a company which determine the company's net income (loss).
_____________ activities are business activities associated with the primary purpose of a business. 
Examples of operating activities are listed in the table below:

	Business
	Operating Activities

	
	Manufacturing and selling goods

	
	Buying and re-selling goods

	
	Selling and providing services


_____________ activities are identified with changes in a corporation’s long-term assets. 
Examples of _____________ activities include the acquisition (purchase) of long-term investments, equipment used in the business, a building used in the business, and so on. 
_____________ activities include the sale of long-term investments and the sale of long-term assets that had been used in the business.
_____________ activities involve purchasing and disposing assets necessary for business operations. 
_____________ activities are business activities that involve issuing and paying off debt, issuing preferred and common stock, paying cash dividends, and acquiring treasury stock
_____________ activities involve obtaining funds to start and operate a business. Such activities reflect the relationship between the company and its lenders (e.g. bank) and owners (e.g., shareholders). 
The amount of cash and cash equivalents will be reported on the _____________ as the first item in the listing of current assets. 
The change in the amount of cash and cash equivalents during an accounting period is explained by the _____________.

The changes in balance sheet accounts should be entered on statement of cash flows:
	A change in this balance sheet category
	...is reported in this section of the cash flow statement

	Current Assets (other than Cash)
	

	Current Liabilities
	

	Long-term Assets
	

	Long-term Liabilities
	

	Stockholders' Equity
	


The changes in balance sheet accounts should be entered on statement of cash flows:
	A change in this balance sheet category
	...is reported in this section of the cash flow statement

	
	Operating Activities

	
	Operating Activities

	
	Investing Activities

	
	Financing Activities

	
	Financing Activities


The statement of cash flows shall report cash flows during the period classified by _______________________________________ activities.
The _____________ of the cash flow statement or statement of cash flows is to provide information about a company’s gross receipts and gross payments for a specified period of time.

The statement of cash flows has four distinct sections:

1. _____________
2. _____________
3. _____________
4. _____________
Cash Provided From or Used By Operating Activities reports the company's net income and then converts it from the accrual basis to the cash basis by using the changes in the balances of __________________________ accounts
Cash Provided From or Used By Investing Activities reports changes in the balances of _____________accounts.

_____________ activities involve the purchase and/or sale of long-term investments and PPE.

Cash Provided From or Used By Financing Activities reports changes in balances of the __________________________ accounts

Unearned Revenues, Accounts Receivable, Common Stock, Land, Interest Payable, Inventory, Bonds Payable, Treasury Stock, Supplies, Preferred Stock, Notes Payable (generally due within one year), Furniture & Fixtures, Notes Payable (generally due after one year),Accounts Payable, Vehicles, Equipment, Wages Payable, Long-term Investments, Income Taxes Payable, Retained Earnings, Buildings
	Operating activities
	Investing activities
	Financing activities

	accounts

	
	
	


When an asset (other than cash) increases, the Cash account ____________.
When an asset (other than cash) decreases, the Cash account ____________.
When a liability increases, the Cash account _____________.
When a liability decreases, the Cash account _____________.
When owner's equity increases, the Cash account _____________.
When owner's equity decreases, the Cash account _____________.

An entity shall report cash flows from operating activities using either: 
(a) the _____________, whereby major classes of gross cash receipts and gross cash payments are disclosed; or 
(b) the _____________, whereby profit or loss is adjusted for the effects of transactions of a non-cash nature, any deferrals or accruals of past or future operating cash receipts or payments, and items of income or expense associated with investing or financing cash flows.
Cash from _____________ activities focuses on the cash inflows and outflows from a company’s main business activities of buying and selling merchandise, providing services, etc.
Under the _____________ method of accounting, net income is calculated as follows: revenues earned minus the expenses incurred in order to earn those revenues.
Under the _____________ method of accounting, expenses are matched to the accounting period when the related revenues occur or when the costs have expired.
The first section of the statement of cash flows reports the cash flows from ___________ activities. 
The second section of the statement of cash flows reports the cash flows from __________ activities. 
The third section of the statement of cash flows reports the cash flows from ___________ activities. 
Under the indirect method, an increase in __________ assets other than cash will cause a decrease in cash from operating activities. 

Under the indirect method, a decrease in current ____________ will cause a decrease in cash from operating activities. 

There are four parts to the Statement of Cash Flows (or Cash Flow Statement):
1.  ____________
2.  ____________
3.  ____________
4.  ____________
Indicate which part will be affected

1. Depreciation Expense
Operating              Investing              Financing              Supplemental
2. Proceeds from the sale of equipment used in the business
Operating              Investing              Financing              Supplemental
3. An increase in the balance in a retailer's Merchandise Inventory

Operating              Investing              Financing              Supplemental
Indicate which part will be affected

1. An increase in the balance in Accounts Payable
Operating              Investing              Financing              Supplemental
2. The purchase of a new delivery truck to be used in the business

Operating              Investing              Financing              Supplemental
3. A decrease in the balance of Accounts Receivable
Operating              Investing              Financing              Supplemental
Indicate which part will be affected

1. An increase in Bonds Payable (a long-term liability)
Operating              Investing              Financing              Supplemental
2. A decrease in the current asset account Prepaid Insurance

Operating              Investing              Financing              Supplemental
3. The amortization of the cost of an intangible asset
Operating              Investing              Financing              Supplemental
Indicate whether they will have a positive or negative effect on cash.
1. The proceeds from the sale of equipment formerly used in the business
Positive                                        Negative
2. A decrease in Accounts Payable

Positive                                        Negative
Decreases or Increases
	1
	When a company purchases inventory (merchandise purchased in order to be resold) what will happen to its Cash account?
	

	2
	What happens to the company's Cash account if it borrows money from the bank by signing a note payable?
	

	3
	What is the effect on its Cash account when a company pays some of itsAccounts Payable?
	

	4
	If a company's Accounts Payable account decreased, what is the likely effect this will have on Cash?
	


Decreases or Increases

	1
	If the asset account Land increased, what's the likely effect on Cash?
	

	2
	If the asset account Land decreased, what's the likely effect on Cash?
	

	3
	If the liability account Bonds Payable increases, what is the likely effect on Cash?
	

	4
	If the liability account Bonds Payable decreases, what is the likely effect on Cash?
	


Accounts Receivable and Revenues
____________ is a current asset that reports the amount a company's customers owe the company for goods or services provided on credit.
Under accrual accounting, a company credits a revenue account and debits ____________ (the amount due from customers) when billing customers. 
When an account receivable is collected, the accountant debits ____________ and credits ____________. 
____________ are the amounts that a business earns from selling goods or providing services to its customers. 
Under the ____________ of accounting, revenues are reported on the income statement for the period when the revenues were earned (not the period when the cash is received).
____________ is the gross inflow of economic benefits during the period arising in the course of the ordinary activities of an entity when those inflows result in increases in equity, other than increases relating to contributions from equity participants
Revenues are often sorted into two categories: 
____________
____________
____________ revenues pertain to a company’s main activities. 
____________ revenues pertain  to a company’s incidental activities. 
Revenue shall be measured at the ____________ of the consideration received or receivable
IAS 18 specifies revenue recognition criteria for 3 basic revenue generating scenarios:

____________
____________
____________
Accounts receivable are reported as a ____________ on a company's balance sheet.
The valuation account associated with Accounts Receivable is the _____________ for Doubtful Accounts. 
____________ is usually understood to be total income of a company resulting from its main operating activities.
Revenues are also called ____________, especially in context of companies producing or selling tangible products.

____________ is the difference between revenue and cost of goods sold (cost of sales).
____________ is similar to income as a secondary type of revenue, except that gain refers to incidental and nonrecurring transactions.
____________ is the difference between revenue and expenses.
Shareholders' Equity
According to the accounting equation:
Shareholders' equity = ________________________
On a balance sheet, there is separate section for shareholders' equity which includes its components such as 
____________
____________
____________
____________
____________
____________
____________ represents the legal capital of the company.
____________ is a component of shareholder equity on a company's balance sheet which represents the interest of the company's owners.
A company normally assigns a value called ____________ to a share of its common stock and mentions it in the legal document.
When companies need more capital, they ____________ new shares to investers.
____________ is a sort of share capital which has a preferred right to dividends.
____________ is a type of stock issued by a business that usually pays a fixed dividend prior to any distributions to the holders of the common stock of the business. 
____________ arises when the board of directors elects to have a company buy back shares from shareholders.
____________ is contra-equity account which means that it appears as a deduction from other shareholders' equity accounts and it represents the cost of the company's investment in its own share stock.

The most common treasury stock accounting method is the ____________. The other method is called the ____________ method.
Under the ____________ method, the purchase of treasury stock is recorded by debiting treasury stock account by the actual cost of purchase.
____________ capital represents the cash contributed by the shareholders of the company in excess of the legal capital of the company i.e. the common stock.
____________ equals the retained earnings of last period plus net income for the period minus dividends paid during the period
A company issued 10,000 shares of common stock of $5 par value and received $53,000 cash.
Pass journal entry to record the above transaction.

________________________
________________________
________________________
____________ represents the corporation’s cumulative earnings that have not been distributed to its stockholders
A major section of stockholders' equity is ___________ earnings. 
Stockholders' equity reports the owners' residual interest in the corporation's _________. 
Preferred stock will have preferential treatment over common stock in liquidation and _____________. 
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Liabilities and employee benefits
A _____________ is a present obligation of the enterprise arising from past events, the settlement of which is expected to result in an outflow from the enterprise of resources embodying economic benefits
_____________ Liability is one which the entity expects to pay off within one year from the reporting date.

_____________ Liability is one which the entity expects to settle after one year from the reporting date.

_____________ are all forms of consideration given by an entity in exchange for service rendered by employees
IAS 19 classifies employee benefits into 4 main categories:

_____________
_____________
_____________ 
_____________
__________________________ are employee benefits (other than termination benefits) that are due to be settled within twelve months after the end of the period in which the employees render the related service.
__________________________ include all the following items (if payable within 12 months after the end of the reporting period):

· wages, salaries and social security contributions;

· paid annual leave and paid sick leave;

· profit-sharing and bonuses; and

· non-monetary benefits (such as medical care, housing, cars and free or subsidized goods for current employees). 

_____________ are employee benefits (other than termination benefits) which are payable after the completion of employment.
_____________ benefits include, for example: 

(a) retirement benefits, such as pensions; and 

(b) other post-employment benefits, such as post-employment life insurance and post-employment medical care.
__________________________ are formal or informal arrangements under which an entity provides post-employment benefits for one or more employees.
There are 2 basic types of post-employment benefits:

_____________
_____________
__________________________ are post-employment benefit plans under which an entity pays fixed contributions into a separate entity (a fund) and will have no legal or constructive obligation to pay further contributions if the fund does not hold sufficient assets to pay all employee benefits relating to employee service in the current and prior periods.
_____________ are post-employment benefit plans other than defined contribution plans
_____________ are employee benefits (other than post-employment benefits and termination benefits) that are not due to be settled within twelve months after the end of the period in which the employees render the related service
_____________benefits include the following items:

· long-term paid absences such as long-service or sabbatical leave;

· jubilee or other long-service benefits;

· long-term disability benefits;

· profit-sharing and bonuses; and

· deferred remuneration.

_____________ are employee benefits payable as a result of either: 
(a) an entity’s decision to terminate an employee’s employment before the normal retirement date; or 
(b) an employee’s decision to accept voluntary redundancy in exchange for those benefits.
There are normally two types of post-employment benefit plans:
__________________________
__________________________
